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QUESTION 1

Which option allows the UNLOAD utility to unload LOBs into output files together with non-LOB data?
A. DELIMITED

B. SPANNED YES

C. DSNTYPE HFS on the TEMPLATE

D. DSNTYPE LIBRARY or PDS on the TEMPLATE

Correct Answer: B

QUESTION 2

DB2 workfiles are critical to performance of applications. Which of the following will NOT assist with achieving best
performance for workfile usage?

A. Create several 4K and 32K workfiles.

B. Assign workfiles to their own bufferpools.

C. Assign workfiles to their own DASD volumes.

D. Create one large workfile for the data sharing group.

Correct Answer: D

QUESTION 3

What is the one significant difference between sequence objects and identity columns?

A. Identity columns can cache values and sequence objects cannot.

B. Identity columns can be defined on tables and sequence objects cannot.

C. Sequence objects can have a character data type and identity columns cannot.

D. Sequence object values can be used as primary keys and identity column values cannot.

Correct Answer: B

QUESTION 4

When modeling data to provide for a physical design, which of the following defines the data types for the columns in
the DB2 physical table?

A. Domain
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B. Entities

C. Attributes
D. Primary Key

Correct Answer: C

QUESTION 5

The access path chosen for a query shows a table space scan, when it appears that there is an index available that
would provide a more efficient access path. What situation could have caused a table space scan to be chosen instead
of the index?

A. Index is created with PCTFREE of zero.

B. The number of columns in the index is less than four.

C. RUNSTATS were run when there were no rows in the table.

D. RUNSTATS were run when there was a million rows in the table.

Correct Answer: C
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